top
1646
70
479

0
172.16.0.2+190614060659+w3Gtjn
0
0

Default for GST101 Exam

1646

70

479

The default category for questions shared in context 'GST101 Exam'.
0

172.16.0.2+190614060659+FBWT1Y

3007

999

top
1076
50
777

0
172.16.0.2+190614060659+nwcxfO
0
0

Default for GST101

1076

50

777

The default category for questions shared in context 'GST101".
0

172.16.0.2+190614060659+jx396U

3009

999

Multiple Choice Questions (QMCs)
1076

50

777

0
172.16.0.2+190614062653+TGBCoH
3009

999



0
QMCl1
<p style="text-align:justify">which of the options below contains a linguistic device that will

likely draw a listener’s attention to a major points in a lecture</p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+xTktQx
172.16.0.2+190614062653+QsAghA
0

1560493613

1560493613

31

31

<p>Next I add the banana</p>
1
1.0000000

1

<p>The lushness of the trees</p>

1

0.0000000

1

<p>Traveling through Ilorin is interesting</p>
1

0.0000000

1

<p>Hope to see you next week</p>
1

0.0000000

1



none

0

QMC2

<p style="text-align:justify">One of the options below is an example of a transitional
word</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+YD04CK
172.16.0.2+190614062653+G6FMBx
0

1560493613

1560493613

31

31

<p>And</p>
1
0.0000000

1
<p>Thus</p>
1

1.0000000

1
<p>Either</p>
1

0.0000000

1

<p>Or</p>

1
0.0000000

1

[



none

0
QMC3

<p>One of these resources is relevant to note taking</p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+5tE13x
172.16.0.2+190614062653+0Z28Pf
0

1560493613

1560493613

31

31

<p>Journals</p>
1
0.0000000

1

<p>Textbooks</p>

1

0.0000000

1

<p>Speech</p>

1

1.0000000

1

<p>Course materials</p>

1
0.0000000



none

0

QMC4

<p>Which one of the options below will likely save time in note taking</p><p style="text-
align:justify"> </p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+RVdUhN
172.16.0.2+190614062653+kycZyB
0

1560493613

1560493613

31

31

<p>Charts</p>
1
0.0000000

1

<p>Words</p>

1

0.0000000

1
<p>symbols</p>

1
1.0000000



<p>Tables</p>
1
0.0000000

1

none

0
QMC5

<p style="text-align:justify">What will the use of asterisks achieve in note making</p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+suxBnb
172.16.0.2+190614062653+x7P3tC
0

1560493613

1560493613

31

31

<p>Contrast</p>
1
0.0000000

1
<p>Division</p>
1

0.0000000

1



<p>Connection</p>
1
0.0000000

1

<p>emphasis</p>
1
1.0000000

1

none

0

QMC6

<p style="text-align:justify">Which of the options below describe the effect of overuse of
abbreviations</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+BIT3gF
172.16.0.2+190614062653+hdvvzB
0

1560493613

1560493613

31

31

<p>Confusion</p>
1
0.0000000

1



<p>Ambiguity</p>
1

0.0000000

1

<p>Incomprehensibility</p>
1

1.0000000
1
<p>Uncertainty</p>
1
0.0000000
1

0

1

1

1

1

1

none

0

0

QMC7

<p>Which one of the terms in the options below represent a reader’s strategic move at
interpreting a text</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+hC5XBO
172.16.0.2+190614062653+FTaRys
0

1560493613

1560493613

31

31



<p>Inference</p>
1
0.1000000

1

<p>Assumption</p>
1
0.0000000

1

<p>Presumption</p>
|
0.0000000

1

<p>Speed</p>
1
0.0000000

1

none

0

QMCS8

<p>Which one of the options below can help a reader solve the challenge of difficult
words</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+LgimoD



172.16.0.2+190614062653+WUVjW;j

0
1560493613
1560493613
31
31
<p>Context</p>
1
1.0000000
1
<p>ideology</p>
1
0.0000000
1
<p>Strategy</p>
1
0.0000000
1
<p>Evaluation</p>
1
0.0000000
1
0
1
1
1
1
1
none
0
0
QMC9

<p style="text-align:justify">One of the options below reflects a reader’s use of different
reading speed rates based on the purpose for reading</p>
1



1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+4¢38TS
172.16.0.2+190614062653+a4Dc6z
0

1560493613

1560493613

31

31

<p>Invalidity</p>
1

0.0000000

1
<p>Difficulty</p>
1

0.0000000

1
<p>Flexibility</p>
1

1.0000000

1
<p>Intensity</p>
1

0.0000000

1

none



0
QMC10
<p style="text-align:justify">One of the options below can help a reader find relevant portions

to study in a book</p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+aMgVa4
172.16.0.2+190614062653+uEMmmA
0

1560493613

1560493613

31

31

<p>Acknowledgments</p>
1
0.0000000

1
<p>Abstract</p>
|

0.0000000

1

<p>Index</p>

1

1.0000000

|
<p>References</p>
|

0.0000000

1



none

0
QMCl11
<p style="text-align:justify">One of the options below will likely give a reader an idea of the

relevance of the book s/he wants to read</p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+pye4dV
172.16.0.2+190614062653+fIZKAD
0

1560493613

1560493613

31

31

<p>Recommendation</p>
1
0.0000000

1
<p>Introduction</p>
1

1.0000000

|
<p>Conclusion</p>
1

0.0000000

1

<p>Findings</p>

1

0.0000000

1



none

0

QMC12

<p style="text-align:justify">What is the term used to describe the attachments in the word
promotION, forgiveNESS</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+a0RVQm
172.16.0.2+190614062653+VGK2MF
0

1560493613

1560493613

31

31

<p>Morpheme</p>
1
0.0000000

1
<p>Prefix</p>
1

0.0000000

1
<p>Suffix</p>
1

1.0000000

1

<p>Affix</p>
1



0.0000000

1

none

0

QMC13

<p style="text-align:justify">What is the term used to describe the attachments in the word
REtrace, MISrule</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+9CDAnM
172.16.0.2+190614062653+SgoEVg
0

1560493613

1560493613

31

31

<p>Stem</p>
1
0.0000000

1
<p>Root</p>
1

0.0000000

1

<p>Prefix</p>
1



1.0000000

1

<p>Suffix</p>
1
0.0000000

1

none

0
QMCl14

<p>Which of the options has the nearest meaning to the word sacrosanct</p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+d2a4FF
172.16.0.2+190614064959+bQM9w7
0

1560493613

1560494999

31

31

<p>Sacred</p>
1
1.0000000

1
<p>Meticulous</p>

1
0.0000000



<p>Effective</p>
1
0.0000000

1

<p>Blurred</p>
1
0.0000000

1

none

0

QMCI15

<p style="text-align:justify">Which of the options has the nearest meaning to the word
panache</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+v9GPO1
172.16.0.2+190614062653+sdkcly
0

1560493613

1560493613

31

31

<p>Lethargy</p>
1
0.0000000



<p>Sloppy</p>
1
0.0000000

1

<p>Witty</p>
1
0.0000000

1

<p>Zest</p>
1
1.0000000

1

none

0

QMCl16

<p style="text-align:justify">What is the term used to describe the capitalized items in the
word indefatigABLE</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+C3JyJD
172.16.0.2+190614062653+siEOyw
0

1560493613

1560493613

31



31

<p>Adjective</p>
1
1.0000000

1

<p>Noun</p>
1
0.0000000

1

<p>Adverb</p>
1
0.0000000

1

<p>Verb</p>
1
0.0000000

1

none

0

QMC17

<p style="text-align:justify">What is the term used to describe the capitalized items in the
word accommodatlON</p>

1

1

1.0000000
0.3333333
multichoice



1
172.16.0.2+190614062653+7H4RGa
172.16.0.2+190614062653+xBqmh0
0

1560493613
1560493613
31
31
<p>Adjective</p>
1
0.0000000
1
<p>Adverb</p>
1
0.0000000
1
<p>Noun</p>
1
1.0000000
1
<p>Verb</p>
1
0.0000000
1
0
1
1
1
1
1
none
0
0

QMCI8



<p style="text-align:justify">What is the term used to describe the capitalized items in the
word patriotISM</p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+MMIcX7
172.16.0.2+190614062653+CNea6f
0

1560493613

1560493613

31

31

<p>Noun</p>

1

1.0000000

1

<p>Verb</p>

1

0.0000000

1
<p>Adjective</p>
1

0.0000000

1
<p>Adverb</p>
|

0.0000000

1

none



0

QMC19

<p style="text-align:justify">What is the term used to describe the capitalized items in the
word establishMENT</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+VHyvinr
172.16.0.2+190614065241+MOBONd
0

1560493613

1560495161

31

41

<p>Adverb</p>
1
0.0000000

1
<p>Adjective</p>
1

0.0000000

1
<p>Noun</p>
1

1.0000000

1
<p>Verb</p>
1
0.0000000

1

—_—



none

0

QMC20

<p style="text-align:justify">What is the term used to describe the capitalized items in the
word intensiFY</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+CSAiJO
172.16.0.2+190614062653+N90g31
0

1560493613

1560493613

31

31

<p>Verb</p>
1
1.0000000

1
<p>Adjective</p>
1

0.0000000

1
<p>Adverb</p>
1

0.0000000

1

<p>Noun</p>

1

1.0000000

1



none

0

QMC21

<p style="text-align:justify">What is the term used to describe the capitalized items in the
word smell Y</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+AESIQr
172.16.0.2+190614062653+GDS 111
0

1560493613

1560493613

31

31

<p>Adjective</p>
1
1.0000000

1
<p>Verb</p>
1

0.0000000

1
<p>Noun</p>
1

0.0000000

1



<p>Adverb</p>
1
0.0000000

1

none

0

QMC22

<p style="text-align:justify">Which of the options below reflects the meaning in the
capitalized expression in the sentence: he is a LOOSE CANNON</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+NHqvAC
172.16.0.2+190614062653+LDNTpV
0

1560493613

1560493613

31

31

<p>Uncontrolled</p>
1
1.0000000

1
<p>Rash</p>
1

0.0000000

1



<p>Aggressive</p>
0.0000000

1

<p>Unreliable</p>
1
0.0000000

1

none

0

QMC23

<p style="text-align:justify">Which of the options below reflects the meaning in the
capitalized expression in the sentence: the manager CUT THE GROUND OF THE STRIKING
STAFF FEET</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+WS9X5b
172.16.0.2+190614062653+iZ1As0
0

1560493613

1560493613

31

31

<p>Discouraged</p>
1
0.0000000

1



<p>Weakened</p>
1
1.0000000

1

<p>Confused</p>
1
0.0000000

1

<p>Disorganised </p>
|
0.0000000

1

none

0

QMC24

<p style="text-align:justify">Which of the options below reflects the meaning in the
capitalized expression in the sentence: Tolu did not ALLOW THE GRASS TO GROW
UNDER HER FEET</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+kFpsQf
172.16.0.2+190614062653+m8Uffl
0

1560493613

1560493613

31

31



<p>Delay</p>
1

1.0000000

1
<p>Destroy</p>
1

0.0000000

1

<p>Cut</p>

1

0.0000000

1
<p>Swept</p>
1

0.0000000

1

—_

none

0

QMC25

<p style="text-align:justify">Which of the options below reflects the meaning in the
capitalized expression in the sentence: Udo GOT THE AXE last week</p>

1

1

1.0000000
0.3333333
multichoice
1



172.16.0.2+190614062653+5qRGk8
172.16.0.2+190614062653+17DkwW

0
1560493613
1560493613
31
31
<p>Promoted</p>
1
0.0000000
1
<p>Transferred</p>
1
0.0000000
1
<p>Sacked</p>
1
1.0000000
1
<p>Demoted</p>
1
0.0000000
1
0
1
1
1
1
1
none
0
0
QMC26

<p style="text-align:justify">Which of the options below reflects the meaning in the
capitalized expression in the sentence: Uche had the BEST OF BOTH WORLDS</p>



1

1

1.0000000
0.3333333
multichoice

1

172.16.0.2+190614062653+wW UNns
172.16.0.2+190614062653+50DFNp

0

1560493613
1560493613

31
31

<p>Had all the advantages</p>
1
1.0000000

1

<p>Was quite rich</p>

1

0.0000000

1

<p>Was comfortable</p>
1

0.0000000

1

<p>Had a heaven on earth experience</p>
1

0.0000000

1

none



0
QMC27

<p style="text-align:justify">Abbreviations are essential when the speaker is </p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+P7nHEP
172.16.0.2+190614062653+yv63KX
0

1560493613

1560493613

31

31

<p>Fast</p>
1
1.0000000

1

<p>Slow</p>

|

0.0000000

1
<p>Articulate</p>
1

0.0000000

|

<p>Clear minded</p>
|

0.0000000

1



none

0
QMC28
<p style="text-align:justify">Students will likely eliminate if they listen before taking

notes in during a lecturer</p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+YpWS8vr
172.16.0.2+190614062653+fSGJ3e
0

1560493613

1560493613

31

31

<p>Irrelevant Issues</p>
|
1.0000000

1

<p>Relevant Issues</p>
1

0.0000000

1

<p>Important Issues</p>
1

0.0000000

1

<p>Urgent Issues</p>

1

0.0000000

1



none

0
QMC29
<p style="text-align:justify">One of the options describes the consequence of overuse of brief

notes in note taking</p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+nbgxfv
172.16.0.2+190614062653+qizQew
0

1560493613

1560493613

31

31

<p>Vague meaning</p>
1
1.0000000

|
<p>Disorganisation</p>
|

0.0000000

1

<p>Ambiguity</p>

1

0.0000000

1

<p>Forgetfulness</p>
1



0.0000000

1

—_

none

0

QMC30

<p style="text-align:justify">What is the advantage of a general impression of a speech for the
listener</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+gvOjEI
172.16.0.2+190614062653+07Ux0D
0

1560493613

1560493613

31

31

<p>Helps in information gathering</p>
1
0.0000000

1

<p>Helps in arriving at personal opinions</p>
1

1.0000000

1

<p>Helps in understanding the speaker’s intention</p>
1



0.0000000

1

<p>Helps in note making</p>
1
0.0000000

1

none

0
QMC31
<p>Which one of the options does NOT indicate active participation in the listening-

comprehension process</p>
1

1

1.0000000

0.3333333

multichoice

1

172.16.0.2+190614062653+A AhygF
172.16.0.2+190614062653+HAX AmH
0

1560493613

1560493613

31

31

<p>Note transitional words</p>
1
0.0000000

1

<p>Labelling of diagram</p>
1



0.0000000

1

<p>Thinking about the diagram</p>
1
1.0000000

1

<p>Observing the diagram</p>
1
0.0000000

1

none

0

QMC32

<p style="text-align:justify">One of the following options is opposite in meaning to the
capitalized word in the sentence: Kunle could be METICULOUS</p>

1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+84nyrB
172.16.0.2+190614062653+U08YLS
0

1560493613

1560493613

31

31

<p>Careful</p>
1



0.0000000

1

<p>Fastidious</p>
1
0.0000000

1

<p>Sloppy</p>
1
1.0000000

1

<p>Thorough</p>
1
0.0000000

1

none

0
QMC33
<p style="text-align:justify">One of the following options is opposite in meaning to the

capitalized word in the sentence: his performance was quite ASTOUNDING</p>
1

1

1.0000000

0.3333333

multichoice

1

172.16.0.2+190614062653+j10J98
172.16.0.2+190614062653+zVylZ5
0

1560493613

1560493613



31
31

<p>Impressive</p>
1
0.0000000

1

<p>Amazing</p>

1

0.0000000

1
<p>Astonishing</p>
1

0.0000000

1
<p>Unimpressive</p>
1

1.0000000

1

—_—

none

0
QMC34
<p style="text-align:justify">One of the following options is opposite in meaning to the

capitalized word in the sentence: the secretary is not DISCREET in any way</p>
1

1
1.0000000
0.3333333



multichoice

1
172.16.0.2+190614062653+MAQGWc
172.16.0.2+190614062653+QKH9cm
0

1560493613
1560493613
31
31
<p>Rash</p>
1
1.0000000
1
<p>Careful</p>
1
0.0000000
1
<p>Cautious</p>
1
0.0000000
1
<p>Circumspect</p>
1
0.0000000
1
0
1
1
1
1
1
none
0
0

QMC35



<p>One of the following options is opposite in meaning to the capitalized word in the
sentence: the economy has been quite RESILIENT in the last few years</p>
1

1

1.0000000

0.3333333

multichoice

1
172.16.0.2+190614062653+1ToLHU
172.16.0.2+190614062653+4hHpWh
0

1560493613

1560493613

31

31

<p>Strong</p>
1

0.0000000

1
<p>Tough</p>
1

0.0000000

1
<p>Vulnerable</p>
1

1.0000000

1
<p>Elastic</p>
1

0.0000000

1

none



Fill in the Blank (QFBs)
1076

50

777

0
172.16.0.2+190614064525+dVcGY{
3009

999

0

QFBI1

<p>___ ears are the physiological aid people need to participate effectively in listening
activities</p>

1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+z2LL.V{7
172.16.0.2+190614064525+FrLKxh
0

1560494725

1560494725

31

31

*Functioning*
0
1.0000000

1

0
0.0000000

1

0
0.0000000

1



0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0

QFB2

<p>Difficult words could impede a listener’s </p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+j7b5Y]
172.16.0.2+190614064525+RIThJt
0

1560494725
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*Concentration®
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<p>A listener could understand a seminar deeply or </p>
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*Superficially*
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QFB4

<p>Which one of the activities in parenthesis (note making; note taking) is a student likely to
do while studying?</p>

1

1

1.0000000
0.3333333
shortanswer
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172.16.0.2+190614064525+5JwMvu
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0
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*Note making*
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0
0.0000000

1
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<p>Underlining is NOT necessary where all letters of the heading are </p>
1

1
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shortanswer

1
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*Capitalised*
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0
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0

QFB6

<p>A writer can place the main idea at the end of a paragraph. TRUE or FALSE?</p>
1

1
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0.3333333

shortanswer

1
172.16.0.2+190614064525+m000Gt
172.16.0.2+190614064525+pqf6pM
0
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1560494725
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*TRUE*
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0.0000000

1

0
0.0000000

1

0

QFB7

<p>When a reader examines the weaknesses of a text s/he is involved in analysis of the
text</p>

1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+i12HUV4
172.16.0.2+190614064525+60gMtE
0
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1560494725
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*Critical*
0
1.0000000

1

0
0.0000000

1

0
0.0000000
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0.0000000

1

0
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QFBS

<p>Which one the options in parenthesis (note taking; note making) offers the reader the
opportunity to reread for missing points</p>

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+fyxjjj
172.16.0.2+190614064525+JfIMMb
0

1560494725
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*Note of making*
0
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1

0
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1

0

QFB9

<p>A reader must always decide on the relevant pages to read before reading all forms of
literature. TRUE or FALSE?</p>

1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+mOF4Qb
172.16.0.2+190614064525+DEEXel
0
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1560494725

31
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*FALSE*
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1

0
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1
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QFB10

<p>Headings is a clue for identifying ideas for one of the options in parenthesis (note taking;
note making)</p>

1

1
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0.3333333
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1
172.16.0.2+190614064525+vVCrUS
172.16.0.2+190614064525+C7Lu2a
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*Note making*
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1

0
0.0000000
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QFBI11

<p>The capitalised item in the word MISunderstanding is an example of </p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+d5qMON
172.16.0.2+190614064525+0nrGgo
0

1560494725
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*Suffix*
0
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0.0000000

1



0
0.0000000

1

0
QFBI12

<p>The capitalised item in the word unCHARITable is an example of </p>
1

1
1.0000000
0.3333333

shortanswer

1
172.16.0.2+190614064525+AFLWhK
172.16.0.2+190614064525+gklen5

0

1560494725

1560494725

31

31

*Root*
0
1.0000000

1
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0
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0
0.0000000

1



0
0.0000000

1

0
0.0000000

1

0
QFB13

<p>The capitalised item in the word unFAITHfulness is an example of </p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+KUSPUi
172.16.0.2+190614064525+mfcKvl
0

1560494725

1560494725

31

31

*Root*
0
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0
0.0000000
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0.0000000
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0
0.0000000
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0
0.0000000

1

0
0.0000000

1

0
QFB14

<p>The capitalised item in the word joyFUL is an example of </p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+aJTWYg
172.16.0.2+190614064525+hztOvZ
0

1560494725

1560494725

31

31

*Suffix*
0
1.0000000

1



0
0.0000000
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0.0000000

1

0
0.0000000

1

0
QFBI5

<p>The core of the word humanitarianism is </p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+tvJRfq
172.16.0.2+190614064525+2ABkfz
0

1560494725

1560494725

31
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*Human*
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0.0000000

1

0
0.0000000

1

0

QFB16

<p>Which word class does the capitalized items in the word childISH belong to</p>
1

1



1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+1fZAIS
172.16.0.2+190614064525+rMY Wok
0

1560494725

1560494725

31

31

*Adjective*
0
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1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1



0
QFB17

<p>Which word class does the capitalized items in the word complicatlON belong to</p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+nWnZxZ
172.16.0.2+190614064525+YYw2Zi
0

1560494725

1560494725

31

31

*Noun*
0
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1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1



0
0.0000000

1

0
QFBI18

<p>Which word class does the capitalized items in the word permissION belong to</p>
1

1
1.0000000
0.3333333

shortanswer

1
172.16.0.2+190614064525+kiE46u
172.16.0.2+190614064525+ZIwvzQ
0

1560494725

1560494725

31

31

*Noun*
0
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1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1
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0.0000000

1

0
0.0000000

1

0
QFBI19

<p>Which word class does the capitalized items in the word passIVE belong to</p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+Em31Ye
172.16.0.2+190614064525+fleDoh
0

1560494725

1560494725

31

31

*Adjective*
0
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0
0.0000000
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0.0000000

1
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0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
QFB20

<p>Which word class does the capitalized items in the word beautIFY belong to</p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+dS5Bqg
172.16.0.2+190614064525+CyNAoc
0

1560494725

1560494725

31

31

*Verb*
0
1.0000000

1
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0.0000000

1
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0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
QFB21

<p>Dictionary words are presented in
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+JdEATP
172.16.0.2+190614064525+ch1nnL
0

1560494725

1560494725

31

order</p>
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*Alphabetical *
0
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1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0

QFB22

<p>Listening for purposes will help the reader to gather information</p>
1

1



1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+26S4Nu
172.16.0.2+190614064525+NePlo]
0

1560494725

1560494725

31

31

*Specific*
0
1.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1



0

QFB23

<p> helps a listener connect the preceding statements of the speaker with what is being
said now</p>

1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+0OQuB2i
172.16.0.2+190614064525+fqD7Sq
0

1560494725

1560494725

31

31

*Relationship*
0
1.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1



0
0.0000000

1

0
QFB24

<p>___ reading will help a student enhance her/his vocabulary stock</p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+J8IxXg
172.16.0.2+190614064525+hlsEj0
0

1560494725

1560494725

31

31

*Extensive®
0
1.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000



0
0.0000000

1

0
0.0000000

1

0
QFB25

<p>The likely place to find encyclopedia in the library is the section</p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+MQPTFq
172.16.0.2+190614064525+TkdBFS
0

1560494725

1560494725

31

31

*Reference*
0
1.0000000

1

0
0.0000000

1



0
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0
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1

0
0.0000000

1

0
0.0000000

1

0
QFB26

<p>The Radio is an example of ___ media system</p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+Sk2sbu
172.16.0.2+190614064525+9noCHH
0

1560494725

1560494725

31

31

*Multi-*
0
1.0000000

1



*Multi*
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0.0000000
1
0
0.0000000
1
0

0

QFB27

<p>The domain of information consists of instructions, facts and </p>

1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+Z2me9F
172.16.0.2+190614064525+azMCfi
0

1560494725

1560494725
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*Directions*
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0
0.0000000

1

0
0.0000000

1
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QFB28

<p>Facts are regarded as source of information in listening comprehension</p>
1



1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+gJATRx
172.16.0.2+190614064525+30nylG
0

1560494725

1560494725

31
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*Primary*
0
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0.0000000

1

0
0.0000000

1
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QFB29

<p>A collection of information in a computer is known as </p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+zmxc Yy
172.16.0.2+190614064525+dQNAe5
0
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*Data*
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0.0000000

1



0
0.0000000

1

0
QFB30

<p>It is possible to convert speech to figures. TRUE or FALSE?</p>
1

1
1.0000000
0.3333333

shortanswer

1
172.16.0.2+190614064525+GDcHrM
172.16.0.2+190614064525+MI1Ukxy
0
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*TRUE*
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0.0000000

1

0
0.0000000

1

0
QFB31

<p>The habit of reading widely is sometimes referred to as reading </p>
1

1
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0.3333333

shortanswer

1
172.16.0.2+190614064525+I1JTHEH;
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*Culture*
0
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0
QFB32
<p>A student looking up information in the open university directory will likely apply the

strategy of (scanning; skimming)</p>
1

1
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0.3333333

shortanswer

1
172.16.0.2+190614064525+zU4f1D
172.16.0.2+190614064525+aRUMRA
0
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*Scanning*
0
1.0000000
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0.0000000

1
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0.0000000

1

0
QFB33

<p>A speaker could announce the of her/his talk in the title </p>
1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064525+qKKinf
172.16.0.2+190614064525+kLLBSx8
0
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*Main idea*
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0.0000000

1

0
0.0000000

1
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QFB34

<p>A ___ could involve a speaker citing illustrations first</p>
1



1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064526+SwrjFJ
172.16.0.2+190614064526+DQGwkd
0

1560494726

1560494726

31
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*Speech pattern*®
0
1.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1

0
0.0000000

1



0

QFB35

<p>When a reader asks probing questions on a text, s/he is doing a critical of the
text</p>

1

1

1.0000000

0.3333333

shortanswer

1
172.16.0.2+190614064526+uC2jtL
172.16.0.2+190614064526+E9XN1c
0

1560494726

1560494726

31
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*Evaluation*
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